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Affymetrix SNP chip terminology
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Genomic DNA
A SNP
TAGCCATCGGTANGTACTCAATGAT
G
Perfect Match probe for Allele A ATCGGTAGCCAT TCATGAGTTACTA
Perfect Match probe for Allele B ATCGGTAGCCAT CCATGAGTTACTA

Genotyping: answering the question about the two
copies of the chromosome on which the SNP is located:

Is a person AA , AG or GG at this
Single Nucleotide Polymorphism?



Probe Intensities

Fake (idealized) image for 3 samples on one SNP
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Fake, as the probes are not all adjacent on the chip
ldealized, as all the probes are high or low as they should be.



Fit model: define genotype regions and
confidence measure
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Low frequency alleles?
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Intensity effect on M
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All arrays not equal!




All SNPs not equal
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Accuracy versus Drop Rate
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Accuracy

CRLMM v birdseed
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Why CRLMM better?
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Big Shifts

BRLMM
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“Room for improvement " Probes
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Improved Accuracy Prediction

Figure 3A
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Probe effect

Log (base 2) intensity
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A Probeset profile on two arrays B Observed versus nominal
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Now we want absolutes:
Probe effect a problem!
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